8AE RHIB

FfE R - S F106408 5 18H 34703 17&YY -+ WAKAMIYA COURSE
g5z K % OUT | IN | GR | HDCP | NET =
&R IR E=F 42 | 47 | 89 |21.8 |[6/.2 AHE
B B ¥ 42 | 46 | 88 [19.0 [69.0 AE

3 R Bk 42 | 47 | 89 [19.8 [69.2 |AHE

4 AR SHA 51 | 48 | 99 [29.4 69.6 AE

5 & F— 43 | 46 | 89 [19.1 [69.9 |AE

6 ML BE 49 | 48 | 97 [26.8 70.2 | AE

1T |BHFH EM 46 | 45 | 91 [ 20.7 |70.3 AHE

8 H+ FEHE 49 | 51 | 100 [29.7 | 70.3 |AE

9 £k BA 43 | 46 | 89 | 18.6 | /0.4 AHE

10 |F4 x4k 50 | 49 | 99 [ 28.1 |70.9 AHE

1|5 S 43 | 47 | 90 [18.5 | 71.5

12 %8 F5h 49 | 49 | 98 [26.2 |71.8

13 |[BHF FA 47 | 51 | 98 [25.8 |72.2

14 FIL #EX 45 | 51 | 96 |22.5 |73.5

15 /)l EE 44 | 52 | 96 |22.5 |73.5

16 k<K £ 49 | 55 | 104 [30.0 | 74.0

17 £k ®RE 47 | 46 | 93 |18.8 |74.2

18 &E&f HE 51 | 44 | 95 120.5 |74.5

19 =& & 90 | 45| 95 [19.6 | 75.4

20 | FE BHE 51 | 53 | 104 [28.4 |75.6

21 |EA 188k 46 | 50 | 96 |20.2 |75.8

22 |5 # 48 | 50 | 98 [20.4 |77.6

23 ¥ = 98 | 50 | 108 [30.0 [78.0

24 5 BRZ- 95 | 44 | 99 120.8 |78.2

25 kB FX 90 | 53 | 103 |24.7 |178.3

26 |BEH = 56 | 53 | 109 {30.0 |79.0

27 % H i 96 | 50 | 106 |25.3 |80.7

28 5 HE 52 | 51 | 103 |21.7 |81.3

29 @ EE 92 | 50 | 102 |19.5 |82.5

30 Tk £= 60 | 53 | 113 1 30.0 83.0

31 |FP EX 93 | 60 | 113 |29.5 |83.5

32 Bk F=R 55 | 55 [ 110 |25.7 |84.3

33 \Mfx IEAT 98 | 54 | 112 |26.4 |85.6

R AE 94 | 55 | 109 |28.1 |80.9 Hh—FFRE
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